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A widow cannot collect — Y22 KON OAIN 9021 NYNSI TINER PPN
from the assets of the orphans without an oath

OVERVIEW

The nawn states that an 7IM%X cannot collect her 72> from the 20 of her
husband, unless she first takes an oath that she received no payment during her
husband’s lifetime. Md01n will explain the reason and the simplicity of this ruling

ndOIN asks:
— (x,N9 MAIN5) DNN MNP N2INI NIN XY NI 9NN ON)

And if you will say; but a 7712yn> was not intended that it be collected while the

husband is alive -
— 1311 TINA YND DIN PN APIN (vn 97 NN NI2T KNP P93 WIPY W9 9N)

And %"= ruled in the first P25 of 2'"'2; there is a presumption that a person does

not pay his debt within the time allotted to him; he pays only when the debt is due -
— Znynay N3 Y9995 315910 959N AN XNIYH BN 1399N)

And the X723 stated there; the ruling is like "2 and one may even collect from
orphans without an oath; why does the 71X require an oath to collect from the amn?!?

Mmo0IN answers:
- 41"1 %3 NINA NY HONT NINONR HAN 2IN J¥a 99913 13NT 920 W

And one can say; that when does this apply (that 127 730 does not require an oath
to collect "»nn°») only by a creditor of a loan; however regarding a widow which

she is owed because of stipulation of 7''52 (and not on account of a loan) the rule is

different, for we are concerned that the husband -
— (3,3p 97 Mmana) NYINN D992 JNIYNTI NINT TINI 1PN 2998 1Y ©rann

Placed in her possession a bundle of money to pay off her 72113 even 7277 70, as

" In a case where we know that the M borrowed money for a specific time, and the M2 asked for payment during
this time, and the Mm% claimed that he paid it, the m? is not believed and is obligated to repay the loan. See "7 '01n
X21in &,72"2.
> The (general) rule is that a creditor cannot collect from the assets of the 20 of his debtor unless he first takes an
oath that the money is still owed to him (for we are concerned that perhaps the deceased paid him). However if the
note is 11»7 7N (it was not due and payable at the time of the debtor’s demise), then the creditor may collect from the
2 mn° without a 7¥12w, because we are certain that the debt was not paid (before it was due).
? The debt of the 72105 was not due for collection until after the husband passed on, why is a 7¥12w necessary?!
* The husband does not owe his wife the 72102 money because she lent him money, but rather this is a stipulation of
7"2 that whoever marries a woman owes her a 72105 which includes a sum of money to be paid to her at his death
(or if he divorces her). This obligation weighs heavily on the husband that oftentimes he will pay off her 71215 to her
while he is alive in order to be freed from this burden and not saddle his heirs with it.
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we find in w17 P70 -
— "YUN Man $998Y 290 PINAA 1IYHNT

That we are more concerned for 793 regarding his daughters than his wife’s

daughters; the reason for this is -
— 995 ¥AVANN )77 N2 ININA NININT 12T DIVN

Since his daughters are owed because of a 7''s2 >Xin, he will deposit >392 by

them (as opposed to 1nwx N2 where he owes them money because of an agreement but not >Xin
7"2).

mooin asks (based on the conclusion that by 732%% even 1127 0 requires a 7312W):
— 9999 NINYN NYIIN NI N2 72997 NN 99NN ON)

And if you will say; regarding this which the X923 asks, why does the 71w teach

the rule by 7am%R, etc. that she cannot collect from the o»n> without a 7312w, when it is a

universal law that no creditor can collect from 2°»n° without a 72 -
— T PIN NINY 29 HY N NINOHN VPIT NN

Let the X713 answer that the 71w» mentions 712%X, because even though it is 70

7Rt where usually one can collect from the 2°mn° without a 7¥12w, nevertheless there is a
novelty by mnoX that even though it is 71 70, she cannot collect from the omn> without a
Y|

n90IN answers:
— 157 52 NIN 1INV 9272 1IMNYNRD 119D 1IN 2907 9121 YN

And one can say; [the X 1) asks that] the 71w» should have rather taught us that
TYIAWA ROR 2000 20237 PYInl PR regarding something which is not 7''52 S\in -

— 919197 ANNY 21N Y¥aa D
For instance a creditor after the due date; that would have been a greater novelty, than

teaching us regarding -
— N TIN NNV 22 DY 9N NINYNAN

An 5K even though that by her it is 7327 7In; nevertheless it is not such a great
novelty that she requires a 7¥12w. The reason it is not such a great novelty is -
127 12 ONINA NY NINT D

> The case there is where a person married a woman who had a daughter and agreed to support the daughter for five
years. The husband had other daughters. If the husband dies (within the five years), his (minor) daughters can collect
for their sustenance only from 1711 12 0°021; however his wife’s daughter can collect (within the five years) even
from 0°721wwn 2°001. This XA can also be found in X,X1 Pv2a.
% Therefore his daughters cannot collect from 2*7aywn» 0°021 since it is possible that he may have paid them while he
was alive (even though he was not obligated to pay their future expenses).
7 He is obligated to pay for his wife’s daughter’s sustenance only because he agreed to do it; he is not obligated to so
because of a 7"*2 °X1in; he is only obligated 7"°2 *X1n2 to sustain his biological daughters.
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Since she is owed the 772103 by a 7'"92 *xan.®

SUMMARY
There is a greater possibility of a 7"2 °Xin being paid even 17 710, than a loan
being paid (even) 127 NX>.

THINKING IT OVER

1. There is seemingly another reason why by 721> we should not be at all
concerned that he paid while he is alive, since there is the distinct possibility that
his wife will predecease him and he will not owe her anything. Why does not
Moo mention this?’

2. Why is it that a person is more likely to pay off a 7"°2 °Xin (even 1327 710) than a
regular debt (even 1101 InK?)?'°

3. mooIn explains the s'8M3 question AR XK K1 that there is a greater w17 for
"nXS 1"va than by "2 mmbR.'! Would it not be sufficient to say that the w17n is
the same for both; therefore the X773 asks why is it necessary to mention merely a
specific case when the rule applies universally?'?

¥ The sense of obligation for paying a 7"2 *Xin (even a7 TIn) is greater than the sense of obligation for paying a debt
(even 1n1 7nX). Therefore there is more chance of *05nX *77% by an 7IM2R than by repaying a debt (141 2nR?) by a
n"va. See “Thinking it over” # 3.
? See 7"nx #19.
% See n"ma.
' See footnote # 3. MooIN writes "ou'.
2 See 17"nx # 33 (see also following X 717 ‘o).
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